CIRCLES ONLINE QUIZ ANSWERS (SOCRACTIVE.COM)
[bookmark: _GoBack]
[image: ]
      Radius = d/2
                  = 17cm/2
                  = 8.5cm
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     Circumference = 2πr
                               = 2π x 5cm 
                               = 2(3.14) x 5cm
                               = 31.4 cm
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      C = πd
          = π x 8m
          = 25.12m
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           C = πd
               = 2πr
      22cm = 2πr
      22cm = 2(3.14)r
      22cm = 6.28 
     22cm/6.28 = r
      3.50cm = r
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                   C = πd
            47mm = πd
       47mm / π = dπ / π
        47mm / π = d
    47mm/ 3.14 = d
        14.97mm = d
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     A = πr2
      A = 3.14(2cm)2
      A = 3.14 x 4cm2
          = 12.56cm2
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     A = πr2	
			
      r = d/2
      r = 2m/2 
      r = 1m

      A = πr2
      A = π(1m)2
              = 3.14(1m)2
          = 3.14(1m2)
           =3.14m2
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      A = πr2

       r = d/2
       r = 4m/2 
       r = 2m

     A = πr2
              = π(2m)2
              = 3.14 x 4m2
         = 12.56 m2
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     A = πr2

       d = r/2
       d = 2m/2
        d = 1m

      A = 1/8(πr2)
          = 1/8 x π(1m)2
          = 1/8 x 3.14(1m)2
          = 0.39m2
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Perimeter of arc = ¼(circumference)
                         P= 1/4(d) x 4
           Perimeter = ¼(3.14 x16m) x 4
                           = 12.56m x 16m
                           = 50.24m
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      Area of shaded region = Area of Square – Area of quarter circle
                                           = (l x w) – ¼(πr2)
                                           = (3.5cm x 3.5cm) – ¼(πr2)
                                           = 12.25cm2- ¼(π x 3.5cm2)
                                           = 12.25cm2- 9.62cm2
                                                                = 2.63 cm2
image7.PNG
/21 The following circle has a diameter of 2m. What is the area?
A ome
0aum
€ 63m?

© 126m?
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Acircle is inscribed within a square. The square’s side length = 4m.
‘The edge of the circle touches the midpoint of the sides of the
square. What is the area of the circle?

63m?
126 m?
251m?

503m?

4am
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\/ 23. The following circle has a diameter of 2m. The shaded sector is
‘one eighth (1/8) of the circle. What is the the area of the sector?

O ozom?

B 078m?
€ 100m?
D 314m?
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The following picture shows four quarter circles within a square of
side length 16m. What is the perimeter of the red section in the
picture?

1257m

2513m

5026m

5494m

100.53 m

16m|

16m
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\/ 25. The following picture shows a quarter circle within a square of
side length 3.5cm. What is the area of the red section of that
shape?

A 162 cm?

O 263cm?

€ 9s2em? 35cm

D 984cm?

E 1225cm?
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\/ 15. Acircle has a diameter of 17cm. What s the radius?
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/' 16. Acircle has a radius of Scm. What s the circumference?
A 785cm
@ s1eem
c 157cm

o 78cm
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\/ V7. Acircle has a diameter of 8m. What is the circumference?
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\/ 18. Acircle has a circumference of 22cm. Whatis the radius?
O 3socm
s 701cm
c mooem

o 1.00mm




image5.PNG
/19 Acircle has a circumference of 47mm. What is the diameter?
A 387mm
8 748mm
© 1497mm
D 2350mm
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\/ 20. The following circle has a radius of 2cm. What is the area?
A 31cm?
B 63cm?
0 r6cm?

D s03cm?




